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1. Transform the equation 3z + 4y + 12 = O into

slope intercept form

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_y003qn7gtP3R

2. Transform the equation 4x 4 3y — 12 =0 into

intercept form.

° Watch Video Solution

3. Find the wvalue of 'p° if the Ilines
de —3y—7=0,2z +py+2=0and 6 +5y—1 =0

are concurrent .,

° Watch Video Solution

4. Find the ratio which the XZ -plane divides the line

joining A( — 2, 3,4) and B(1, 2, 3)



https://dl.doubtnut.com/l/_HanKltqbzvk3
https://dl.doubtnut.com/l/_UEm7ITJ4zbZW
https://dl.doubtnut.com/l/_No5kCg9e7bGy

I o Watch Video Solution

5. Find the angle between the planes

x+2y+2z—5=0and 3z +3y+2z—-8=0.

o Watch Video Solution

6. Compute

sin bx

Lt sinax
z — 0

)b;«éO,a#b

o Watch Video Solution

Lt z? + bx + 2
T — 00 222 —5x +1

7. Compute

[ o Watch Video Solution


https://dl.doubtnut.com/l/_No5kCg9e7bGy
https://dl.doubtnut.com/l/_auQn4FzcwtjJ
https://dl.doubtnut.com/l/_n7wkJLVwCEv1
https://dl.doubtnut.com/l/_c3th0FhMcKJ6

a—x

d
(x # — a) then find -

8.Ify =
Y a-+z’ dx

o Watch Video Solution

9.1fy = z* + tanx then find y".

° Watch Video Solution

10. If y = 2°> 4+ 3z + 6 then find A y and dy when

x =10, A z = 0.01.

° Watch Video Solution



https://dl.doubtnut.com/l/_c3th0FhMcKJ6
https://dl.doubtnut.com/l/_sQtLrNC0NY8h
https://dl.doubtnut.com/l/_EEAzr1RdjhnE
https://dl.doubtnut.com/l/_YDVdY8Gejj6H

1. Verify Rolle's theorem of the function

log(ac2 + 2) — log 3 on (-1,1)

° Watch Video Solution

1. Find the locus of the third vertex of a right angled

triangle , the ends of whose hypotenuse are (4,0) and

(04)

o Watch Video Solution



https://dl.doubtnut.com/l/_N8TH3COCa2uO
https://dl.doubtnut.com/l/_fYHbHal38umR

2. Find the point to which the origin has to be shifted
to eliminate x and y terms in the equation

4 +9y* —8x +36y+4=0

° Watch Video Solution

3. A straight line with slope 1 passes through Q(-3,5)
and meets the straight line x+y-6=0 at P. Find the

distance PQ.

° Watch Video Solution



https://dl.doubtnut.com/l/_H8vx4BkkmSD2
https://dl.doubtnut.com/l/_BKKEart3eb5w

4. Check the continuity of 'f' given by
(4 — z? if <0

r — 5 if 0<z<1

4z2 -9 if 1<z <2
3z +4 if = > 2at point s

f(z) = ¢

x=0,1,2.

° Watch Video Solution

5. Find the derivative of > from the first principle.

° Watch Video Solution

6. Let a kind of bacteria grow in such a way that at time

t sec, there are ¢3/2 bacteria. Find tha rate of growth


https://dl.doubtnut.com/l/_LIjveeS46xO1
https://dl.doubtnut.com/l/_XmJownfxDhrR
https://dl.doubtnut.com/l/_AVIlZijYhyty

at time t =4 hours.

° View Text Solution

7. Determine the intervals in which

flz) = 2 + 18z, Vo € R — {0} is stricly
(z = 1)

increasing and decreasing.

° Watch Video Solution

1. Find the orthocentre of the triangle formed by the

vertices (-2,-1),(6,-1),(2,5)


https://dl.doubtnut.com/l/_AVIlZijYhyty
https://dl.doubtnut.com/l/_HcuuG02cTgIM
https://dl.doubtnut.com/l/_hzJf1mMw5BN7

O Watch Video Solution

2. S.T the equation
222 — 13zy — Ty* + £ + 23y — 6 = 0 represents a
pair of straight lines. Also find the angle between them
and the coordinates of the point of intersection of the

lines.

o Watch Video Solution

3. Show that the lines joining the origin to the points

of intersection of the curve


https://dl.doubtnut.com/l/_hzJf1mMw5BN7
https://dl.doubtnut.com/l/_YqQFv1VooYjv
https://dl.doubtnut.com/l/_lxF91hzgYjD1

e’ +zy+y°+3z+3y—2=0 and the straight

line z — y — 1/2 = Oare mutually perpendicular .

o Watch Video Solution

4. Find the angle between the lines whose d.c's are

related byl + m +n = 0&I2 + m?> —n?> =0

o Watch Video Solution

5. if siny= zsin(a+y) then show that

dy  sin’(a+y)
de sina

° Watch Video Solution



https://dl.doubtnut.com/l/_lxF91hzgYjD1
https://dl.doubtnut.com/l/_Q6xEw2s0yPVQ
https://dl.doubtnut.com/l/_6E0gZml2c0jl

6. At a point (z1,%;) on the curve z* + y° = 3azy,

show that the tangent is

(zv% — ayl)w + (y% — a:r;l)y = ar1y;.

° Watch Video Solution

7. ST the curves 6z° — 5z + 2y = 0, 4a® + 8> = 3

1 1
touch each otherat { —, = .
ouch each other a (2, 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_meflUUye2u3i
https://dl.doubtnut.com/l/_OsNsH5X6vC5d

